1252

* APPLICATION FOR PERMIT

200 mar 10 23942

To Appropriate the Public Waters of the State of Oregon

I,	H. E. Gosset		of applicant)	
of	Dundee R	t 1	······	,
State of			by make application for a	a permit to appropriate the
following de	scribed public wat	ters of the State of Ore	gon, SUBJECT TO EXIS	STING RIGHTS:
	_			
-, 55	upp			
1 The	e source of the prov	nosed appropriation is	an unnamed stream	and reservoir
			(Name o	of stream)
				ver
2. The	e amount of water	which the applicant into	ends to apply to beneficion	il use is $\frac{1.22}{}$
cubic feet per	$r\ second.$	(If water is to be used	from more than one source, give quar	ntity from each)
**3. The	e use to which the	water is to be applied is	irrigation (Irrigation, power, mining, man	
			(irrigation, power, mining, man	uracturing, domestic supplies, etc.)
4 Th	e point of diversion	n is located 30 f	t. S. and 1630 ft.	E. from the SW
				•—
corner of	or. of Sec. 2 1	. 4 S., H. 3 W. W.1 (Secti	M. on or subdivision)	

		(If preferable, give distance an	d bearing to section corner)	
	(If there is more th	an one point of diversion, each mu	st be described. Use separate sheet if	necessary)
being within	the NET NY	ve smallest legal subdivision)	of Sec11	, Tp/S, (N. or S.)
R. 3 W.	, W. M., in the co	ounty of Yamhill		
(E. or W.) 5. T he	•	(ain ditch, canal or pipe line)	to be	•••••
				(Miles or feet)
				, Tp,
R (E. or V	, W. M., the	proposed location being	shown throughout on th	e accompanying map.
		DESCRIPTION	I OF WORKS	
		DESCRIPTION	OF WOILES	
Diversion Wo				
				feet, length at bottom
120	feet; material	to be used and characte	r of construction earth	fill (Loose rock, concrete, masonry,
rock and brush, tir	mber crib, etc., wasteway o	ver or around dam)		
(<i>b) D</i> (escription of nead	jate(Fimber, concrete, etc., number and size	ze of openings)
(c) If	water is to be pun	rped give general descr	iption 2½" cent. pum (Size	p e and type of pump)

^{*}A different form of application is provided where storage works are contemplated.

feet; depth of water	feet; ft. ween
(b) At miles from headgate: width on top (at water line) feet; width on bottom feet; depth of water feet fall per one thousand feet. (c) Length of pipe, ft.; size at intake, in.; size at from intake in.; size at place of use in.; difference in elevation between take and place of use, ft. Is grade uniform? Estimated capa sec. ft. 8. Location of area to be irrigated, or place of use froty-acre Tract Number Acres To Be Irrigated for the property of the property is a sec. ft for the property is a sec. ft	feet; ft. ween
(c) Length of pipe,	ft. ween
(c) Length of pipe,	ween
(c) Length of pipe,	ween
rom intake	ween
sec. ft. 8. Location of area to be irrigated, or place of use Township Range Section Forty-acre Tract Number Acres To Be Irrigated	
8. Location of area to be irrigated, or place of use Township Range Section Forty-acre Tract Number Acres To Be Irrigated	
Township Range Section Forty-acre Tract Number Acres To Be Irrigated	
Township Range Section Forty-acre Tract Number Acres To Be Irrigated	
4 S. 3 W. 2 See "Remarks"	
The state of the s	
Property on which water is to be used is a part of that more explicitly described	
applicant as follows:	
eginning at the Northeast corner of the John A. Wren Donation Land Claim, said corner being warked by a stone;	·
hence South 889 491 430 Vest vlong the North line of the John A. Wren	
Donation Land Claim for a distance of 1565.70 feet to the Southwest	
marked by a stone:	
nence North 2 26' 17" East along the West line of the Flores Fulguartz	
Donation Land Claim for a distance of 537.29 feet to the Southeast corner of the E. R. Geary Donation Land Claim, said corner being marked by a stor	
hence North 890 02' 29" West along the South line of the E. R. Geary Donation	
Land Claim for a distance of 302.45 feet to a point marked by a $1\frac{1}{2}$ " iron a	
nence South 0 26! 23" West for a distance of 2885.77 feet to a point on the center line of the county road marked by a 3/4" iron pipe;	
nence—South—80°—301—22"—East—along—the—center—line of—the—County—road—for—a	
distance of 312.22 feet to a point; nence Worth 310-35 - 33 - East along the center line of the county road for a	
distance of 390.12 feet to a point; (Continued under Remarks)	
(If more space required, attach separate sheet)	
(a) Character of soilsome_clay_content	
(b) Kind of crops raised general farm crops	
Power or Mining Purposes—	
9. (a) Total amount of power to be developed theoretical horsepo	ower.
(b) Quantity of water to be used for powersec. ft.	, , ,
(c) Total fall to be utilized feet. (Head)	
(d) The nature of the works by means of which the power is to be developed	
(e) Such works to be located in	
Tp, R, W. M. (No. E. or W.)	
(f) Is water to be returned to any stream?(Yes or No)	
(g) If so, name stream and locate point of return	
, Sec. , Tp. , R. , No. E. or W.)	
(h) The use to which power is to be applied is	W. M

Municipal		- F - V			
·(Name of)	County, having a	present population of		
			in 19		
	(b) If for dome	estic use state num	ibe r of families to be supplied	1	
	_	(Answer que	stions 11, 12, 13, and 14 in all cases)		
11.	Estimated cost of	f proposed works,	\$1500 . 00		
12.	Construction wo	rk will begin on or	before One year aft	er approval	
13.	Construction wo	rk will be comple	ted on or before Two yrs	11 11	
14. ′	Γhe water will b	e completely appl	ied to the proposed use on or	before 3 yrs " "	
			(Sgd) H. E. G	OSSETT Mature of applicant)	
Rem	arks:				
hence S	outh 39° 11'	04" East along	the center line of the	county road for a	
distance of 290.19 feet to a point; line Thence North 88 58! 00" East along the center/of the county road for a					
C	rawford Donat	8.64 Teet to a ion Land Claim	point on the West line	ed by a 3/4" iron	
hence w				a-distance of	
1	515.24 feet t	o the Northwes	t corner of the Medorum	Crawford Donation	
Thence S	and Claim, sa outh 89° 33'	id corner bein 48" East along	gumerked by a 3/4" iron the North line of the	pipe;	
Thence Some Distriction Distri	outh 89° 33' onation Land y a stone on orth 0° 26' I and Claim for	48" East along Claim for a di the East line 2" East along a distance of	g marked by a 3/4" iron the North line of the stance of 214.50 feet tof the John A. Wren Don the East line of the Jo 849.20 feet more or leacres more or less.	Medorum Crawford o a point marked ation Land Claim; hn A. Wren Donation	
thence S b chence N L	outh 89° 33' onation Land y a stone on orth 0° 26' I and Claim for eginning, con	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386	the North line of the stance of 212.50 feet to of the John A. Wren Don the East line of the Jo 849.20 feet more or leacres more or less.	otpe; Medorum Crawford o a point marked ation Land Claim; hn A. Wren Donation	
hence Shence No. L. b	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386	the North line of the stance of 212.50 feet to feet to feet the John A. Wren Don the East line of the Jo 849.20 feet more or leacres more or less. Forty Ac. Tract	Medorum Crawford o a point marked sation Land Claim; hn A. Wren Donation ass to the point of Acres to be irrig.	
hence Shence No. L. b	outh 89° 33' onation Land y a stone on orth 0° 26' I and Claim for eginning, con Range	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386	the North line of the stance of 212.50 feet to feet to feet the John A. Wren Don the East line of the Jo 849.20 feet more or leacres more or less. Forty Ac. Tract	Medorum Crawford to a point marked tation Land Claim; thn A. Wren Donation tass to the point of Acres to be irrig.	
hence Shence No. L. b	outh 89° 33' onation Land y a stone on orth 0° 26' I and Claim for eginning, con Range	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386	the North line of the stance of 212.50 feet to feet to feet the John A. Wren Don the East line of the Jo 849.20 feet more or leacres more or less. Forty Ac. Tract NE SV. SV. SV.	Medorum Crawford to a point marked thation Land Claim; the A. Wren Donation that is to the point of Acres to be irrig.	
Cown.	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386	the North line of the stance of 212.50 feet to fine John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA NWA SWA SWA SWA	Medorum Crawford to a point marked thation Land Claim; the A. Wren Donation that is to the point of Acres to be irrig. 23 12 16	
Chence Solution Description De	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range 3 W.	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386	the North line of the stance of 214.50 feet to feet to feet the John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NE SV.	Medorum Crawford o a point marked ation Land Claim; hn A. Wren Donation ass to the point of Acres to be irrig. 23 12 16 35	
hence Shence No. L. b	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range 3 W.	48" East along Claim for a di the East line 2" East along a distance of taining 96.386 Sec. 2	the North line of the stance of 214.50 feet to fine John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA SWA SWA SWA SWA NET SWA NET SWA NET SWA	Medorum Crawford to a point marked thation Land Claim; thin A. Wren Donation this to the point of Acres to be irrig. 23 12 16	
hence Shence No.	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range 3 W.	48" East along Claim for a di the East line 2" East along a distance of taining 96.386 Sec. 2	the North line of the stance of 214.50 feet to fine John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA SWA SWA SWA SWA NET SWA NET SWA NET SWA	Medorum Crawford o a point marked sation Land Claim; hn A. Wren Donation ess to the point of Acres to be irrig. 23 12 16 35	
hence Solution Description Des	outh 89° 33' onation Land y a stone on orth 0° 26' T and Claim for eginning, con Range 3 W.	48" East along Claim for a di the East line 2" East along a distance of taining 96.386 Sec. 2	the North line of the stance of 214.50 feet to fine John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA SWA SWA SWA SWA NET SWA NET SWA NET SWA	Medorum Crawford o a point marked sation Land Claim; hn A. Wren Donation ess to the point of Acres to be irrig. 23 12 16 35	
hence Shence No. L. b. Sown. 4 S. TATE OF County	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range 3 W. OREGON, of Marion,	48" East along Claim for a di the East line 2" East along a distance of taining 96.386 Sec. 2	the North line of the stance of 214.50 feet to fine John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA SWA SWA SWA SWA NET NWA	Medorum Crawford o a point marked sation Land Claim; hn A. Wren Donation ss to the point of Acres to be irrig. 23 12 16 35 8 3 97	
hence Shence Note In the Shence	outh 89° 33' onation Land y a stone on orth 0° 26' I and Claim for eginning, con Range 3 W. COREGON, of Marion, is to certify that	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386 Sec. 2	the North line of the stance of 212.50 feet to fine John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SVT NVT SVT NVT SVT NVT NVT NVT	Medorum Crawford To a point marked Sation Land Claim; Inn A. Wren Donation The sation the point of Acres to be irrig. 23 12 16 35 8 3 97	
TATE OF County This aps and d	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range 3 W. COREGON, of Marion, is to certify that data, and return	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386 Sec. 2	the North line of the stance of 212.50 feet to of the John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA SWA SWA SWA SWA NWA SWA NWA NWA NWA NWA NWA NWA NWA NWA NWA NWA Completion	Medorum Crawford o a point marked sation Land Claim; hn A. Wren Donation ess to the point of Acres to be irrig. 23 12 16 35 8 3 97	
TATE OF County This caps and di	outh 89° 33' onation Land y a stone on orth 0° 26' 1 and Claim for eginning, con Range 3 W. of Marion, is to certify that data, and return der to retain its	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386 Sec. 2 11 11 11 11 11 11 11 11 11	the North line of the stance of 212.50 feet to of the John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA NWA SWA SWA SWA NET NWA NWA NWA	Medorum Crawford o a point marked sation Land Claim; hn A. Wren Donation ess to the point of Acres to be irrig. 23 12 16 35 8 3 97	
TATE OF County This caps and d In or	outh 89° 33' onation Land y a stone on orth 0° 26' I and Claim for eginning, con Range 3 W. COREGON, of Marion, is to certify that data, and return der to retain its beforeNove	48" East along Claim for a dithe East line 2" East along a distance of taining 96.386 Sec. 2 11 11 11 28 29 20 20 20 20 20 20 20 20 20	the North line of the stance of 212.50 feet to of the John A. Wren Don the East line of the Jo 849.20 feet more or le acres more or less. Forty Ac. Tract NET SWA SWA SWA SWA SWA NWA SWA NWA NWA NWA NWA NWA NWA NWA NWA NWA NWA Completion	Medorum Crawford o a point marked sation Land Claim; Inn A. Wren Donation ss to the point of Acres to be irrig. 23 12 16 35 8 3 97	

Application No.	22698
Permit No	13026

PERMIT
TO APPROPRIATE THE PUBLIC
WATERS OF THE STATE
OF OREGON

	Division No.	Di	strict No	·	
		•	rst received in r at Salem, Ore		
	on the 15th	day of	July	·,	
	1947 at 10:	10 o'clock	A• M.		
	Returned to a	pplicant:			
	Corrected app	olication rece			
	Approved:				
		- -	,		
	Recorded in	ı book No	.4	of	
	Permits on pa	g è 8026	······································		
	CHAS.	E. STRICK	LIN STATE ENGINE	ER	
	Fees Paid		Page76		
		PERMI'	יי		
STATE OF OREGON,		I DIGIVII.	L		
County of Marion, This is to certify tha SUBJECT TO EXISTING 1	t I have examin RIGHTS and the	following li	mitations and co	onditions:	
The right herein gran			-		-
and shall not exceed	22 cubic	feet per seco	ond measured a	it the point of	diversion from the
stream, or its equivalent in	case of rotation	with other v	vater users, fro	m an unnam	ed stream and
reservoir to be const	ructed under	Application	n No. R-2269	7, Permit 40	• R-909•
The use to which this	; water is to be a	pplied isi	rrigation		
If for irrigation, this					• •
second or its equivale					
ther limited to a dive					
irrigated during the i	_				
reservoir to be constr	malea unner r	ecillo	.n202 a		

and shall be subject to such	r reasonable rote	ation system	as may be orde	red by the proj	per state officer.
The priority date of t	his permit i s	•••••	July 15, 1	947	•••••
Actual construction v	work shall begin	on or before	March 1	, 1949	and shall
thereafter be prosecuted w	ith reasonable de 1, 1953 Entradad	ligence and 1 1954	be completed on	or before	
Complete application			d use shall be m	ade on or befor	e
October	1, 1951	in Dall 1 1904	•		
WITNESS my hand t	thislst	day of	March	, 194 <u></u> 8.	
			CHAS. E. ST		
Permits for power development	are subject to the pay	100000			STATE ENGINEER pter 74, Oregon Laws 1933.